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QUESTION 1

What is considered a requirement for passing traffic through GRE tunnels?

A. Tunnel endpoints must have static routes pointing to the remote endpoints.

B. You must configure the tunnel on the physical interface connecting to the remote endpoint.
C. You must be able to reach the remote endpoint through the tunnel.

D. Tunnel endpoints must have a route that directs traffic into the tunnel.

Correct Answer: C

QUESTION 2

Click the Exhibit button.

Switch-1

Forwarding = @
Discarding = (D)
Root Port = (R)
Designated Port = @)
Alternate Port = A

Ui P
9 ge-0/0/2 K —

Switch-2 Switch-3

You manage the Layer 2 network shown in the exhibit. You experience a failure on the ge-0/0/0 link
between Switch-1 and Switch-2.

Which statement is correct about the expected behavior?

A. Switch-3\\'s ge-0/0/2 port role and state will transition to designated and forwarding.

B. Switch-3\\'s ge-0/0/2 port role and state will remain as alternate and discarding.
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C. Switch-3 will become the root bridge for the RSTP topology.
D. Switch-3 will remove the ge-0/0/2 interface from the RSTP topology.

Correct Answer: A

QUESTION 3

Which statement is true about load balancing of equal cost paths?

A. A load-balancing policy must be configured under the policy-options hierarchy.

B. The route preference parameter must be manually set to the same value.

C. The maximum-paths parameter must be configured under the routing-options hierarchy.
D. Traffic is balanced across equal cost paths by default.

Correct Answer: D

QUESTION 4

Which two sequence correctly describe the correct processing order of firewall filters on an EX Series switch? (Choose
two.)

A. port filter > VLAN filter > router filter > transmit packet

B. router filter > VLAN filter > port filter > transmit packet

C. receive packet > port filter > VLAN filter >router filter

D. receive packet > router filter > VLAN filter > port filter

Correct Answer: BC

The order in which filters are applied depends on the direction in which they are applied, as indicated here:

B: Egress filters (outbound traffic leaving the device or interface): C: Ingress filters (inbound traffic to the device or
interface):

QUESTION 5

Which two statements are correct about aggregate routes in the Junos OS? (Choose two.)
A. An active route can contribute only to a single aggregate route.

B. Only one aggregate route can be configured for each destination prefix.

C. An aggregate route has a default next hop of an IP address.

D. An aggregate route always shows as active in the routing table.
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Correct Answer: AB

A route can contribute only to a single aggregate route. You can configure only one aggregate route for each destination
prefix.

Latest JNO-347 Dumps JNO0-347 VCE Dumps JNO0-347 Study Guide

Latest INO-347 Dumps | JNO-347 VCE Dumps | JNO-347 Study Guide 4/4


https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html
http://www.tcpdf.org
https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html
https://www.passapply.com/jn0-347.html

